HER

k&
A wT o TwD1-Z—-O404
FFa—Ti&

AERT
(mm)

BREF1-—J T=IH T+
HEZE(mm) X (M) rZ(R)

£BWE] (BHE] 3 _
DWE| DRF] 3 =
BWE] CDHF] 4 _
AOWF| (ORF] 4 e
EC4-R1/8-M £LWF £DEF] 4
£BWE (BHE] g =
EC6-R1,/8-M EL¥WF) ADHF) g

RE CAD_DATA L{mm)A(mm)

EC3-M3-M M3x0.5 12.5 |3 8.5

EC3-M5-M M5X0.8 15.5 3.5 8.5

EC4-M3-M M3X0.5 14 3 9.3

EC4-M5-M M5X0.8 14 3.5 9.5

R1/8 — 14 7.3 9.5

ECBH-M5-M M5Xx0.8 15 3.5 10.5

R1/8 — 16.5 7.3 10.5

= el o il
BMM) - (mm) (@) (mm2)
5.5¥6.0 1.5 2 2
J.0X7.7 2 3.2[2.5
g8.0x8.8 1.5 4 2
8.0x8.8 2.5 4 3.5
10.0X11.02.5 5.44
10.0x11.02.5 3.64.5
10.0x11.04 5.689



